
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Exercice 1 : 

a. 
1

4
 

b. 
3

6
 et 

1

2
 

c. 
2

6
 et 

1

3
 

d. 
4

8
 et 

1

2
 

 

 

Exercice 2 : 

On représente 
2

5
𝑒𝑡

6

15
 

     

 

               

 

On remarque que 
2

5
=

6

15
 

Les deux enfants ont mangé la même quantité de 

gâteaux. 

 

 

Exercice 3 : 
2

3
 

 

         

         

             

         

24

36
 

 

         

         

             

         

 

Donc   
2

3
=

24

36
 

 

 

1 

2 
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3

4
 

 

         

         

             

         

27

36
 

 

         

         

             

         

 

Donc   
3

4
=

27

36
 

 

4

9
 

 

         

         

             

         

10

18
 

 

         

         

             

         

 

Donc   
4

9
<

10

18
 

 


